M4 6o2O Ey )
Lessan & S
Lasro.» ge Muthplrers (Pors 1
| Oflndias s opfinart ation prelblems come witln o

L conShroand . The Medinped of Lc.taran% Mu lFplrers
’@\\/{5 a way 5 Selee Con(trmaed  Opfibnzaton rar»el;{ﬁw ¢

Metnod of Lograngs Multplrers

| rwtn & dnen v £l y) had Yo Wikl fo ophimie.

| Gubject B hu tnstramt  gle,y) = € (e a conttant ),

L[ Fiend I-fxg “{8; Yx, and gy

2. Tpdrnduee da Aew pacteble D (odk Nl Sysfen
of eguo ol

| fxtkgx, —,%:)\33) g(x,q):c

[ 3. Fird  ordeced pears (a,h) whthh gaks fy all

;‘ 3 2geno- DRS04 0L

t P{ut) all ocdered pouri fndy rf’(x,»;) ts (e wieh

Sy C\({rhw Wk AN (h/\L_ “A/x/\ C"\L'al}n ‘

Wo.cnmyl Do aek Contel yy or X from an g
04 VL i z%uc&*!‘ﬂ)r\j I I\r\.ﬁv}c_gl n[;(f,v}'t_)f' ff‘M €. gt 5;_-}4&;4'\5
! Ca,nqug Coulel o [o-fg O[ fe.&\fk £ CL\&,C‘C\

T —

E_?j___.( Fivaeh ‘{%;» P YA Al et o£ !()(, (j) :,xz'),yi»
3\«%} et o fin L&AS'{"{’Q\\\A‘\“ L’f3 =~ 3Ix ,
I crened

DT g i AT

=

| : 254Uy =
| ﬁ(ﬁ(/h3-) el e \j J 3(11%): ZXJ—‘"ﬁ) ¢ =
;‘ CX :‘27<+ 'p:f = 2"\5) Ge = 3 Y f{j = Y

e

2x=3% , 29=4%, 3xrliy=(
\L - g
>~= %X /’.Q:’:"{(%X)/ S j: %‘X

T

S 2_;5__‘; 3_"
f ?X"’q(,:}t‘f)"":' s $r76 =) x = g
g (%)= fo



MA 16020

LesSon 25 @

— g

,.tr..".(.,.?fwﬂ FW\C) 'h'\L hacx e v ot OVC !()t,‘j) T £ <
shll’b Jf(:* 'dLD ‘ﬂ/‘t W.S&"f‘{.\d‘l\ k‘ \(L“)“\jz’: ’L';. . A’(J{AM{ > 0\,\@1\
Y are both posi P

s e glng) sty
- q:je"’fj Ix o 3/ Jx = 2x, 9y = 2.32 |
C’j{ *3" 2e%, Cixe ey Nly,  x'ry"=b

sy
A LD I TR CR T IRPIIPES

Gxe™d- 4 %‘ge’q’“ﬂ:o = Qe.qﬂ (X'ix})‘o
o
- Cunr\&* L{ 0
= = )
ugﬂmg M Yo X ’rw)?‘” lc;/ geb YTy <= =5 -
Co Ly’ =28 D 325%3%9,,(’

Abe\fV\\ 3 P\bisﬁlxx-(’ - E \) -Z'-S
P2yl in B oo xs 2 gbxsV R

S 0N ’ S o (\]—/ \[‘2
e R



| MA 16D 2O (EL;)

LesSonm 5

4%3 Fnd fhn maximam valioe of £xy) = % ’533
- Subjeck du fne congheammt Uxtr sz: (60

j(g’[x,\l)}: Xta 5‘33, q(x,\i):(|xz+g¥-

| x = Cx, 'jz’qﬂlf I = 8x, 9y =2y

‘—~—~ZX~?§3§}/ By'= 2oy, Mxtey'eiod

| - }\%x’»D S Zx(1-4))=

X=0 o 1-MX:0 ne

M‘S ’)\?‘j u)\/\,w\ )= g, 3 L:tj = LL\») !‘?\3?“"{9:0
gUsy-4)=0 s y=0 o y= 3

Now, plug w o cmwm»«r

| x= 0 Y0 eyt 00 B yleide = Y= £id

ﬁ (o, ), (o, -10)

|30 Qyts (o) 200 = YxPrioo= b= x: ¢ §

i (%, OB (AR“/Q)

| E’}:é-o Y * 4 ('Jg\l 60 = »t: '2";‘—-1" D x =+ qu}&
T ), Gk, Yo) "

| Plug all 6y pounts b to £ 0x,4)

jp( o, 10) = 0+ 5(18)% = 5000

d(o, -16) = (0)*+8(0)= - 500
HODO RO O

e ~-§,0) = (—5\ JE(M?" -z 25

f( %’ead )Q 28"
( \J“T 500 J 3«&)3\\_7‘;

S )Gboo




mp 16020 @\

lacson S

‘ - T
Efk{ (fif\k WA A vy, value a‘:}é' '(‘(x,\:ﬂ: Xze; 3, Subj\t(F

T

1ot onbeaint WOt s x 2 [0 secues ek What
pond()

f(xw): xze‘ii qCx, \,3)~ ét‘f—\x
b 2’1‘3 by = ?%‘j@_ 9x =1, 9y=40y
T g2 = >\) 7x Se\j— >\\fQj 2031-1}(:/0
\_/7’ .
2x e ¥ = 0y (2x e ") < 9oxy e
2%t \je_‘5 - ?(}wde‘i =0
2xye?d (x-40)= O
X =0 or Yy=0 s x=H40

P(bij AFD onlhrawnt
XK=02 0 14-(0\‘:[&) =) S -% =) e j\;];

(o, JIY, (o,-VE)
y =0 70{d)? x< )10 2 X=10

(6, 0)
X=Y0 L 204*+ (MDY~10 D 20y?=-30 yre 2
vapetSiple U Ny pennts

'p(o \)'\ 06 - 0O
(o, -y%) = 0/
fC(IG,OE 10e =

W irawA e oCturS al /(O \J—\X Qﬁ,\ ,\F”\



